CCS-CFW11

Clamp
‘ Abrazadera
Abracadeira

Screw M3 x 8
Tornillo M3 x 8
Parafuso M3 x 8

Screw M4 x 12
Tornillo M4 x 12
Parafuso M4 x 12

Separador M3 x 5.8

% Spacer M3 x 5.8
Espacador M3 x 5.8

J

Control Cables
Cables de Control
Cabos de Controle

S

Remote HMI
HMI Remoto
HMI Remota

i



	Sheet2
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12


